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Page 4 /26
RECITATION TIME

TOTAL /100
DIRECTIONS

1. Write your name, student ID number, recitation instructor’s name and recitation time
in the space provided above. Also write your name at the top of pages 2, 3, and 4

2. The test has four (4) pages, including this one.

. Write your answers in the boxes provided.

4. You must show sufficient work to justify all answers. Correct answers with inconsistent

work may not be given credit.

Credit for each problem is given in parentheses in the left hand margin.

6. No books, notes or calculators may be used on this test.
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(10) 1. Let a, b, € be three-dimensional vectors. For each statement below, circle T if the
statement is always true, or F if it is not always true.
() @xb=bxa T
2 FGx eadn
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T

lVLchnl\hﬂ vedows ~'~YJ"e
moSslMﬂ P\Lt UA.LAM

(i) &-b=5-a

(iti) (& x b) x ¢ is a real number

@6 = @

(iv) (@ x b) - € is a vector I/ rmave d*m“' 2"‘?“( T
asve sl i 2
() & -5=¢-b thend =& take a pond offs | 7

(7) 2. Find a unit vector that is perpendicular to both ;+; and j"— k.
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(10) 3. Find the area of the triangle PQR with vertices at P(1,0,-1), Q(1,2,1), and R(0,1,1).
ﬂ ’

——

PQ = 2',’”+'2.1? F"’R = —i +—f-+'2k

— — 7T 7 W N [0:2 - 2¢-f] T +[01 -2¢-0)
PaxPr =]l 3 pl=(a-i-lo2 2(J]7 +[o04 -267)
-1 L % = <2,L -2 2k @
\
Axea °/> PQR -é"PQXPRl @ —Zp-tn /ov‘ iwvm-x} weff,

7, find the vector projection of b onto @, projzb.

(8) 4. Ifa=2i—3j+

Pro]d =

— _7:_‘!._?—-—- (?_T—%j-l-—\:)
4+9+1 5

— - 21 -3 + K \3
=2 (2i-3itk) @ i (20300 ¥) )

(6) 5. Find the value of z # 0 such that the vectors (—3z,2x) and (4, z) are orthogonal.

(3%, 2x> 44 x> =0 @

—)2x +2x%=0

x(x-6)=0 G 51
x=6 @

(8) 6. Find an equation of the sphere that passes through the origin and whose center is
(1,2,3)

o+ H Y o B
,9,2) = (0,9,9) be; o U,:: Sphare
=) (Y + (-3) s

a.z; 14 _—

0

ohy

— X =\ s G-0T+6-0)% =14 - i
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(10) 7. Find the value of the positive number c such that the area of the region enclosed by

the curves x 0 tw‘éc\T’lAY rroblc\-n *{} m—)
4_ 4 4_ .4 i . '
=z*~c*andy=c* -z thar 4 (tewm (»h wro
. y Y ( (“w\;g wltln,! aﬂ( 1 .iem " WY’;?\-Q‘-)]
is equal to —.

UX N ) Avcea c% -L-arlcio»( alpr-m,, ‘.{,.L,afqua mdaﬂZ/QL
gzcox” aA =[x - 6 ;4)] ax

s X Ca 4
/ = A% A = (2 - 2X4)o(f>< (gf A=4f(c —x)Jx
> - @.-C \—%©/ @ 0 /

-C C X . +1am o‘,-/mw'et"‘
s A- 2c % - 2X )
:X4_C s

4 - Ts_16
— 4,5 4.5_16 .5
. = 4¢’~ $cP=2c
16 16 @ m
Con C —_— -, RN -
5 5 c=1 g A ._’9-—
(8) 8. Set up an integral for the volume of the solid obtained by rotating the region bounded
by the curves y = z2 and y = 4 about the line y = 4. Do not evaluate the integral.
\3/ - . . N ’
TA /\3_4 Voh,\m o/, a(;}:roynn,oiwvoé AAS]&
] 2
‘ A\/:.'IT(‘}--—?(Z)AX
2 2
Vo= [ (aan)dx T
A
® 5 /@ >
£ S/
26 LA
rlafdy o (T (s ey e
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v

(8) 9. The base of the solid S is the region bounded by the curves y = 2% and y = 1, and
cross-sections perpendicular to the y-axis are squares. Find the volume of S.
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(10) 10. The region bounded by the curves y = ¢
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, =1, =2, and y = 0 is rotated

about the y-axis. Find the volume of the soﬁid thus obtained.

Ys’\

N obuwme o{, bétnuad\ olﬂomx %LQ.QL o

®

E)dx X

\ 95.-?.4
AN = 27X g;:_i_m
0. 6
V: ( QT
Ty o1 2
| (x =on (e"—x)}1

— 27 (eq_ g —2+i)
=2 (ez—e—i)@

(8) 11. If the work required to stretch a spring 1 ft beyond its natural length is 12 ft-1b, how
much work is needed to stretch it 9 in beyond its natural length?

SL kxdx = 12
° w"li - 12
0

(8) 12. Evaluate the integral / 2 Inzdz.

2w(e’-e-1)

,g\atni;wa‘? o

e b 12212972

27 [t-lbs

Jxla/nxdx peed .l;—lmw-— f_’;—-i;du ’:%Q,n)(_ szc{)r

u={nx A~ = x*d x
du=ddy w=X
X 3
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